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1. A closed cylinder has volume 2156 cm> W

3

atea s minimum? ‘h.at will be the radius of its base so that its total surface
T e e Tamies] e s s
(C) Iem

(D) 9%cm ST

Find the dimensions of the rectangle of perimeter 36cm which will sweep out a volume as large

7{ as possible when revolved about one of its sides

(A) 6 cm, 4cm

- /
(B)12cm, 6 cm 2
(C) 6cm, 8cm 2 /

(D) None %’

Differentiate the following with respect to x sin (3x +5)
(A) 4tan (2x +6)

(B) 3 cos (3x +5)

(C) tanx

(D) cosec x (2x +5)

4. The minimum value of f(x) =x' —x 2.2x+6 is

(A) 6
(B) 4
© 8
(D) None

5. If a cone of maximum volume.is i@eﬂmgiven sphere then the ratio of height of the cone to

the diameter of the sphere is o ﬁ‘b

(A) 3/4 A ny
(B) 1/3 @ LT
©)1/4 3 o g
(D) 2/3 1

i ‘nimum value of the sum of their reciprocals is
6. The sum of two non Zero number is 8. Them ‘ ! _ their recipro

(A) 1/4
B) 172
(C)1/8
(D) None
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7. Find the largest possible area of a right angled triangle whose hypotenuse is Scm long

(A) 2/7 em”
(B) 1/6 cm®

(C)25/4 cm’
(D) 18/3 em’

g. A wire of length 25m is to be cut into two pieces. One of the picces is to be made into square and
AW

BO7

ther into a circle. What should be lengths of the two pieces so that the combined area of square
0 i - . - po—
and the circle is minimum.

- a1 pe
(A) 22 m, /4 l . &‘gv\ w - - 6
B)r+2,7 +6
©100,25 P !
n+4 mtd (1”; ‘
(D) 25m,22+7 \' 3>
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9. The number of all possibl
(A) 27
(B)18
(C)81
(D) 512

10. Cos " (cos 7/ 6) is equal
(A)7m/ 6
(B)S/6
(Cyn/3
(D)n/6

(A) Vo* =2Ve?
(B) Ve=V,
(C) Ve?=2V?
(D) Ve =2V(

/!/2. The work done by the cent
| LAJ Zero
| (B) Positive
(C) Negative
(D) Constant

-

(A) magnitude of charges

(B) distance between charges

(C) both A and B

\(9) medium between two charges

14. Light can travel in
/ (A) air only
(B) vacuum only
(Cy-both air and vacuum
(D) none of mediums

15. Which of the following is a

(A) The power of a lens is always positive
(B) The power of a lens is always negative

\g})’fhc power of a convex lens is positive

(D) The power of a concave

T - er wire
\]/G,M yield point of a %oe%pe]astic limit yet; so, Hooke's law applies

(A) load hasn't excee

(B) load has already exceeded
ss

(C) even plastic stage has pa

Like Brass and Bronze,

1V, A satellite orbits at a height & above the Earth's surface. Let R be the Earth's radius. If
escape velocity and ¥, is the orbital veloci

3. Value of k in coulomb's law depends upon
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e matrices of order 3x 3 with each entry 0 or 1 is
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ty of the satellite orbiting at a height # << R, then :

ripetal force is always?
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true statement?

lens is positive

elastic limit and material has become plastic

ed and wire has snapped already

Copper has no yield point
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